202 1FE 545
IEBRIES =7 I 7BFIEHRE (i)

FER @ 2021/5/14 (&)

R LAo 7)) —> )L 7{ERER )8— 72
WERL T L= 6,616 yds
=30

[=Liva K4 g ouT IN TOTAL
1428 & =N % 38 34 72
AL /NG RTY c) TLEE 37 35 72
3/RH =87 I 36 36 72
4B Bz sz B g 39 35 74
b EH BE Iz £ B8 37 38 75
6 FEE IHE B8y R 36 39 75
7/els A AF— FR 37 39 76
81&EAR B BIEIR 40 37 77
9| KB f2— =R 39 38 77
10|%HE RE —BAK 39 38 77
11/ = BB 40 38 78

WiE B (=R 38 40 78
K& =H BBk 37 41 78
feiE 1HE 7' —> b IJLES 36 42 78
15|72 M Iz B2 A8 42 37 79
2l = Iz B2 A8 41 38 79
2l mse Iz £ B 40 39 79
KHE #Ek LAY = 40 39 79
19|# HBRER il 41 39 80
i Iz A8 40 40 80
KB Ih5k TEDAK 39 41 80
Bl 1T T4 —IER 38 42 80
23| FE Iz &g 43 38 81
B BZ I B /g 43 38 81
EBE & sz B2 @ 42 39 81
gE =& BBk 42 39 81
Z2E BA —BAK 41 40 81
Y =) FEES) 41 40 81
NI =18 40 41 81
KR BHIR 40 41 81
ne e LAY —> 40 41 81

—RAEEAN  IRBRE )L 7 ER



202 1FE 545
IEBRIES =7 I 7BFIEHRE (i)

FER @ 2021/5/14 (&)

R LAo 7)) —> )L 7{ERER )8— 72
WERL T L= 6,616 yds
=30

=Hiva K4 i@ ouT IN TOTAL
¥FE OF2 AAZ A 39 42 81
33| FH  RAk s B2, 43 39 82
I IEE FRDO TR 43 39 82
Ag A g —vEILER 43 39 82
)l B Tl 42 40 82
ke Ih ZL 41 41 82
Tk BAE Z2+A8 40 42 82
R FE BI5IR 40 42 82
o EER Iz £ B8 40 42 82
AR S I B A ER 40 42 82
A =2 I 39 43 82
N BB Lo X X8 39 43 82
A HE BE— FRD IR 44 39 83
=N B BrEmR 44 39 83
e ALE R 43 40 83
Bt B Iz B (B 43 40 83
LH BE =REK 43 40 83
BH TIER 42 41 83
ZH *E AAE 42 41 83
mE e Ey- 41 42 83
g % Iz B2 i 41 42 83
Z)Il #2EA (11p%3] 41 42 83
B =t = 1=l 39 44 83
S5 thE B IRz £ B8 44 40 84
g R FEES) 43 41 84
=E g 7Y —> eI 43 41 84
AfRE  FF] FRD TR 43 41 84
EE @e AZY A 43 41 84
KEF AN Bl 43 41 84
W B ES)-1E 42 42 84
HLE R ES)-1E 42 42 84

—RAEEAN  IRBRE )L 7 ER




202 1FE 545
IEBRIES =7 I 7BFIEHRE (i)

FER @ 2021/5/14 (&)

R LAo 7)) —> )L 7{ERER )8— 72
WERL T L= 6,616 yds
=30

[=Liva K4 g ouT IN TOTAL
M B— =R 42 42 84
ELE SR 41 43 84
MR RB ERE 40 44 84

66| FH H|XK 2l 46 39 85
XE BB Ik 44 41 85
MRE #F E IRt 43 42 85
B IEA Ik 43 42 85
MR EALA 42 43 85
FA) AR5k BRIk 42 43 85
KR EHE FRD TR 42 43 85
BB S ER E PR 41 44 85
AR ExR E BBk 41 44 85
A &ER =R 40 45 85
76|\ F2)Il  *1R8 sz B2 46 40 86
Wil &7 I 3=h]d 45 41 86
BB Bm—ER b 44 42 86
A HEE FEES) 44 42 86
aH M R 44 42 86
A BE ZEA 43 43 86
Ke B BBk 42 44 86
KB A T4 —IER 42 44 86
84|hAt HE RS 46 41 87
I £ % 45 42 87
KE RF ELA8 45 42 87
HEE  XFE L& 41 46 87
88|M BUE FEES) 47 41 88
BB EE EIR 46 42 88
ARER 1E— HEES 46 42 88
50 I L ENT: 45 43 88
EH 2 IKE+ > k 45 43 88
ICa s g L E AT 45 43 88

—RAEEAN  IRBRE )L 7 ER



202 1FE 545
IEBRIES =7 I 7BFIEHRE (i)

FER @ 2021/5/14 (&)

R LA =TI 7{EEE JN— 72
P AR Rl 6,616 yds
=30

[[=Niva K4 i@ ouT IN TOTAL
FE S8 EESS 44 44 88
A Fk 21AR 43 45 88
mE 7Y —vELEER 43 45 88
Rl 2 Iz B2 (=] B 42 46 88
i E Ik 42 46 88

MV FE B FReEE = L 47 42 89
FEE X R 45 44 89
L RZ P E AT 44 45 89
1028 1EE&E T4 Y =R 49 41 90
= TILT 5 IHTIH 47 43 90
mw B Sk 47 43 90
Kili #&ak sz E2 g ] 45 45 90
Wa EEZ 7 =2 EILERR 44 46 90
107 )1 18— Y —>vEILEER 48 43 91
B, A 27T 47 44 91
KEF A AAE 45 46 91
110/=# 817 F{LE 46 46 92
EC N i 1Ly i 46 46 92
112|501 %78 AR 50 43 93
S 1 2 AZYF 49 44 93

114\ Bz K84k 49 45 94

XG5 BEF th= p(11b%]

X% B EI

Xz EI =AY %

—RAEEAN  IRBRE )L 7 ER



